Calculating Costs

Find an online store that sells fruit.
For the fruit shown in the fable, find the cost of each fruit per kilogram,

. LOOO
then calculate the cost of two and two and a half kilograms. A,,A,O,:oft}’g’.&’ﬁ\
Complete the table below. 005 o %

L~ Costoflkilogram of oranges: $3.50
=\ )~ Costof2kilograms: 2x $3.50 = $700 oranges
=  Costof2'2kilograms: 2.5x $3.50 = $8.75 $3.50/kg
Fruit Cost per kilogram Costof2kg Costof2 '/2kg
oranges $3.50 $700 $8.75
apples
bananas
grapes
pears
cherries
Food Place Whén food is purchased the buyer receives a' docket that shows
the items that were bought and the cost per item.
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Some have a cost per item, like the carrots and the lettuce.
3 The cost of some items is calculated by weight, like the pofafoes
Potatoes 2.25 and the tomatoes.
0.5kg @$4.50/k :
903 J For this purchase:
fomatoes 5./ What was the per kilogram price of the potatoes?
0.7kg @$8.20/ kg
What was the total weight of the potatoes?
Lettuce 350
How much did the pofatoes cost?
Carrots 3.60 , ,
6 @60c each What was the per kilogram price of the fomatoes?
How much would 2 kilograms of tomatoes cost?
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